4a.

Probability Statistics

1. Central Middle School’s student council will be hosting a talent show.  Jackie will be performing in a band in the talent show.  For this performance, the band members have all agreed to wear long pants, a long-sleeved shirt, and a vest, each of which must be solid black, white, or red.  Jackie has the following clothes to choose from?

	Long Pants
	Long-sleeved Shirts
	Vests

	1 pr. Black
	1 white
	1 red

	1 pr. White
	1 red
	1 black

	
	1 black
	


How many different choices of outfits does Jackie have?

O a. 12

O b. 7

O c. 6

O d. 3

2.  The track team was surveyed for a story in the school paper.  The reporter asked how many times each team member won a race last year.  Here are the data he collected:

8, 7, 6, 10, 9, 4, 3, 7, 12, 14, 6, 6, 5

What is the mode of the number of races won?

O a. 6

O b. 7

O c. 7.5

O d. 14

3. You have 3 pairs of socks in the dryer.  The socks are not paired together and each pair is a different color.  Suppose you take socks out of the dryer, one at a time, without looking.  What is the least number of socks you need to take out of the dryer to guarantee that you have one matched pair?

O a. 3

O b. 4

O c. 5

O d. 6

4. Sara is working on a project for math class.  She is going to conduct a survey to determine which hot lunch at her school is the favorite among students.  Which question below should she use in her survey to get the information she wants?

O a. What is your favorite food at our school cafeteria?

O b. What do you like best for lunch at our school cafeteria?

O c. What hot lunch do you like best at our school cafeteria?

O d. What do you usually eat for lunch at our school cafeteria?

5. A bag contains 6 white, 3 green, and 8 blue marbles.  If 1 marble is drawn at random from the bag, what is the probability that the marble drawn is white?

O a. 1/6

O b. 1/17

O c. 6/11

O d. 6/17

6. [image: image1.png]


Use the information from the picture to answer the following questions.

Since the slide has been so popular, the owner of the carnival wants to decrease the chances of winning a free ticket for this ride.  On the dartboard, the triangle shape has two sides that are each 8 units long.  He wants to decrease the length of each of theses sides to 4 units.

Compare the chances of winning a free ticket for the slide on the old dartboard versus the new dartboard.  Use words, numbers and/or pictures to explain your answer.

7. At the carnival, people will get a chance to win free tickets for the rides.  A player will be blindfolded and will then throw a dart at the dartboard shown here.  If the dart lands on one of the problems that player will receive a free ticket for that ride.  (Note: A player will be allowed to re-throw a dart until it hits the board.)

What are the chances of a person winning a free ticket to ride the Ferris wheel?
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O a. 55%

O b. 14%

O c. 5%

O d. 3%
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